t I R E XN
F A 2 1# % B |8
NO. 30+6. 00~

IP. 9 (NO. 34+3. 19)
K 1 382. 4 m3
if R 215.8 m3
B X 9.3 m3
% T 382.4—(215.8+9.3)/0.9=132. 28 132.3 m3
Y tiAmit Lt 0.0 m?2
BiZEmidtt 173.6 m2

EEEIF 2.09x77.5=161.97 162.0 m2
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Ao = 28 B (m) WTERE (n2) |THMEE m2)| K FEWm3) WTETE m2) |FIOWTEE m2)| & & m3) WTERE (n2) |THMEEm2)| & FEWm3)

NO. 30+6. 00 — 3.8 — — 1.8 — — 0.2 — =
|BC.16 10. 148 5.0 4.40 44.7 2.1 2.25 22.8 0.2 0.20 2.0
|N0.31 3.852 5.2 5.10 19.6 3.1 2.90 11.2 0.0 0.10 0.4
SP. 16 2.307 5.0 5.10 11.8 3.0 3.05 1.0 0.0 0.00 0.0
EC. 16 6.159 4.9 4.95 30.5 2.9 2.95 18.2 0.0 0.00 0.0
INO. 32 11.534 4.8 4.85 55.9 2.6 2.75 31.7 0.3 0.15 1.7
IP. 17 15. 155 5.0 4.90 74.3 2.9 2.75 41.7 0.0 0.15 2.3
NO. 33 4. 845 4.9 4.95 24.0 2.6 2.75 13.3 0.3 0.15 0.7
IP. 18 14. 506 5.3 5.10 74.0 3.2 2.90 42.1 0.0 0.15 2.2
NO. 34 5.494 5.6 5.45 29.9 3.2 3.20 17.6 0.0 0.00 0.0
IP. 19 3.190 5.5 5.55 17.17 3.2 3.20 10.2 0.0 0.00 0.0
/N B 77.190 382.4 215. 8 9.3
a B 77.190 382. 4 215.8 9.3
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Ao = 28 B (m) £ =m FigRE ) & (m2) £k &m FigRS ) E#& (m2) £ =m FHRS ) & (m2)

NO. 30+6. 00 — 0.0 — — 0.9 = —
|BC.16 10. 148 0.0 0.00 0.0 2.2 1.55 15.7
|N0.31 3.852 0.0 0.00 0.0 2.6 2.40 9.2
SP. 16 2.307 0.0 0.00 0.0 2.5 2.55 5.9
EC. 16 6.159 0.0 0.00 0.0 2.3 2.40 14.8
INO. 32 11.534 0.0 0.00 0.0 2.2 2.25 26.0
IP. 17 15. 155 0.0 0.00 0.0 2.2 2.20 33.3
NO. 33 4. 845 0.0 0.00 0.0 2.0 2.10 10.2
IP. 18 14.506 0.0 0.00 0.0 2.8 2.40 34.8
NO. 34 5.494 0.0 0.00 0.0 3.0 2.90 15.9
IP. 19 3.190 0.0 0.00 0.0 1.9 2.45 1.8

/N B 77.190 0.0 173.6

a B 77.190 0.0 173.6
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] Al 3] 1% B8 | B
REIK B B1700-H1300 (1 78) 775 | m
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o] il 3] 1% ¥ B | B4
ARV - MR L R K18
U900-800 L=82.0m V=20 5m3 205 | m3




ERLNET i # = i 2
HH Al iR # =2 =Rivd
-
SkFravy)-b 20.5x2.50 51.25 51.3 t
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ot Al 33 % B = BT
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w A 432.0 | m3
E R 4320 | m3
Brmitt

297.0 m?2




